
3.	C lutches
	 3.4. Friction clutches

K90/4

Type of 
construction

Size d D Style M Drawing No. Part No.

[mm] [Profile] [daNm]

K90/4 2400 32 13/8‘‘ (6) KF 140 56.108.09 1342373

K90/4 2400 32 13/8‘‘ (21) KF 100 56.109.09 1342395

K90/4 2400 32 13/4‘‘ (6) KF 120 56.110.09 1341883

K90/4 2500 36 13/8‘‘ (6) KF 150 56.100.09 1333268

K90/4 2500 36 13/8‘‘ (21) KF 120 56.101.09 1342361

K90/4 2500 36 13/4‘‘ (6) KF 150 56.102.09 1342376

K90/4 2500 36 13/4‘‘ (20) KF 140 56.103.09 1342377

K90/4 2600 42 13/8‘‘ (6) KF 140 56.104.09 1333900

K90/4 2600 42 13/4‘‘ (6) KF 140 56.106.09 1341881

K90/4 2600 42 13/4‘‘ (20) KF 140 56.107.09 1333297



3.	C lutches
	 3.4. Friction clutches

K90/4 Individual parts

Pos. Designation Size d TK Technical data Standard Drawing No. Part No.

   [mm] [mm]     

1 K90 Yokes 2300 27 167 10xØ12,5 21.73.01 + 1335443

1 K90 Yokes 2400 32 167 10xØ12,5 35.73.01 + 1335604

1 K90 Yokes 2500 36 167 10xØ12,5 36.73.01 + 1335605

1 K90 Yokes 2600 42 167 8xØ12,5 26.73.01 + 1335606

2 K90/4 Hubs

3 Friction disk 91x150x3 56.73.08 1168556

4 Drive plate 167 189x91x7 56.93.00 1335603

5 Drive plate 151,5x80,5 56.94.00 1335442

6 Thrust flange 10xØ12,1 56.92.00 1337464

7 Hexagonal screw M12x65 DIN 931 60.06.08 1020467

8 Self-locking hexagonal nut M12 DIN 985 60.53.03 1010490

9 Hexagonal screw M12x1,25x115 DIN 960 60.06.51 1165949

10 Compression spring 26,4 x 6,3 x 41 66.01.53 1330592

11 Washer A 13 DIN 125 60.75.01 1020093

12 Self-locking hexagonal nut M12x1,25 DIN 934 1123593

13 Self-locking hexagonal nut M12x1,25 DIN 439 1123594



3.	C lutches
	 3.4. Friction clutches

K90/4 Hubs

Type D Style Drawing No. Part No.

[Profile]

K90/4 13/8‘‘ (6) KF 56.91.00 1320497

K90/4 13/8‘‘ (21) KF 56.91.02 1338232

K90/4 13/4‘‘ (6) KF 56.91.04 1328444

K90/4 13/4‘‘ (6) QC 56.91.08 1367763

K90/4 13/4‘‘ (20) KF 56.91.06 1338233




